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P(A) P( 3 or less)



Outcomes : HHH THH

HHT THT
P(exactly 2 heads)

HTH TTH = -3g
HTT TTT



Outcomes :

RG RB

GR GB

BR BG

P (Green then Red) = %



HHH ?⃝
p(z%ia% given at least I head) THT

3 H TH TTH
=

-7 HTT TTT
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P(even given 3 or less)

event A =
# outcomes 3 or less AND even

⑧ ¥ÉÉ
3 4

= ÷5 6 event
B



event A

P (3 or less and even)

t?⃝+ =÷
B



→ general
multiplication
rule

P(3 or less and even) =P (3 or less ) - P(even given
3 or less)

= 1-2 . &
1-
from earlier

= 1-6



independent :

PCB given A) =P (B)
not true in general !



Hall 5 heads) = P(1ˢᵗ heads and 2ⁿᵈ heads and . . . .

and 5ᵗʰheads)
= Pll" heads/ . P(2ⁿᵈ heads) : . .

- P(5
"

heads)

= 0.7-0.7-0.7 -0.7.0.7

=/0.75J





Planners at) = 1- p(neveranswers)least once
assume calls independent !

✗ =/ - plate:L ,) -P(:eez)Pf:o)answer

= I - 2-3.2-3 . }
= , -1:]



I P(A ar B) = 43=2-3
3 4-

5④ event B

event A



PCdifferent faces) = P(ABtP(Atahads)
= 0.6-(1-0.3) + (1-0.6)^0.3
= 0.42 + 0.12 = 10.541








